Z:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-853 Plastpro FG Opagque (Trilennium\C - Drawings\TX-4658.59.61.62.dwg

POWERED Bvlg
il

ENDURA

DOOR COMPONENTS MADE IN THE USA

Opaque Fiberglass Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS DR-853
The Fiberglass Door system described herein complies with the 2018 International
Residential Code (IRC), Sections R301 & R609 and the 2018 International Building
Code (IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the
following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment fo base material shall be beyond wall dressing or stucco.

2. When used in aredas requiring wind-borne debris protection this product is
required to be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC.

3. Allowable design pressure requirements must be equat to or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this
drawing.

4., Condifions not covered by this drawing are subject to further engineering
analysis.

TABLE OF CONTENTS

SHEET # | DESCRIPTION

Typical elevations, design pressures & general nofes
Astragal details {Ultimate Trilennium)

Door panel details

Horizontal & vertical cross sections

Vertical cross sections

Frame anchoring

ol |WIN]—

74" MAX. O.A. FRAME WIDTH

98" MAX. O.A. FRAME HEIGHT (INSWING)

97.125" MAX. O.A. FRAME HEIGHT [OUTSWING)

1l

XX

INSWING

+40.0

-40.0

XX

OUTSWING

+55.0

-55.0

SOUCRLY
SR u“h»l .
o & P& l{x
Gy ot o: *’73 ¢
RN 7N
EA Sl F NN
g iz 9%l
oels Qim Oy
G @iN g o
204 wis &
7t Z3 o
Py T i
Wl L2 b ST
Qg 51 o
T -
Thaandee™

uj
ol
e 0
J0 o ©
£ 2 i
S 8z
Ol Om (4]
2 2 LB
L . F o
£ £ & 2
6 o 3
2 22 §
s =T X
2 259 9
D>k @
h” - ¢
Z20m o
3 g8.
@ d &
O Xz
0 Zz O b
2 Zmg O
8 255 g
o 5Q¢ %
& Boo g
o ig @
B
c
@
E g
3 @§
5]
]
o

CERTIFICATE OF REGISTRATION # F—11852

ENDURA
PART OR ASSEMBLY:

PRODUCT:

TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

LFS
BY

10/26/21|UPDATE TO 2018 IBC/IRC CODE

1

REVISIONS

L
S
S
=
6

pATE: 11,/09/1

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—-4662

sHEET ] oF 6

© 2016 R.W. BUILDING DONSULTANTS INC.



"ON] BLNVLINSENDOD SNIGUNGg "M'™ 9102 6

ZSBLl—d # NOLVALSIOZY 40 FUVOLLLYID SNOISIAZY
SUIINIONS TVNOISSAJONd JO Q¥VO8 SvXIL mzmﬁ&w.mﬁ«\w&%wﬂe AH 21v0 [ONlw© 6_
L6L6°6S9°C18 ON SUOUd S41| 3000 _oMI/061 810z Ol divadn|iz/9z/ot] b |<|v|X|2) Q.
S6SEC 14 OSUIDA O£Z Xo8 "O'd \Sv@. "ATENISSY H0 Ldvd 3| .98
"ONI ‘SINVLINSNOO ONIGTING N g L 2_
= |&E|Ele &
SZTIYOLF 3'd SVYXIL VHNAN3 i 6y £ B
“F'd IPIULDS *d uopukT Ag petodely sjusLINSOQ 119NdoNd = W 5 m -
« WOLLOg
* | |
™~
0
I3 =
] « n:w.
~
- [ WS9°C
Yo
Rl
b5
- O
3 n 2
¢ g =5
i 3 B
W ) O A.\Hu
in
™
I-'Ol -
o
o
N 2
> @] _— 2
o = o
~ < =
Q <
O Q
: - O
I3 F m
3 =
[28]
A = zZ5<
o (274 < [
QO o] I < S
M.Nn L (] =5 —
173 o
< <
/ [y
Q
1 ,m..
En a
w
3 « =
=
(7}
— [
=
o g
u.
[» W
&
&
>
£ =
o 3
o™~
N
i —
dOl
e
O —
2 E
55
umlu. &
=S = <
o O
> <
oz
fI—
7o)
<C
g )
T 3 __ SE L
z 00ocC o< —
> QLo =gE 2z - o
g ~ & ¢ 2 o) -
O - a0 ]
@ =< o< LU
£ © 8 > b
2 3 =z A
£ S
g =
< =
\ )

BMp29°L9'65'8597-X L\sBuimelq - D\(wniuusju]) anbedO o4 0idiseld £58-4Q - 1AL\SU J0 3daq sexa) - B\LININVINYId BInpua\siualid\z



07—  |j=— . W,
3.7 Sem R b oo
gl -{S}' E : o5
0.411 M‘.—i |t EXT__E_RJ_O__R_ e | ot —— 0.4 N,.?‘ - ...‘: E 3 k] g m & o
P EL EX 8 us
T - H go  iEl Ry g8 87
o o , ‘ , g&: 191 s zﬁi,\ Zd
~ : v - o N ~N o _ .l i Do
: : e ~ : £ H HETh Pl
IR x 2 TOP RALL éo».,‘ s §% Eg2 2,
. . . o L S i ':'\3-*‘- :z g é .g % 55
ﬁn, L s o : / 11\5, * ([COMP.) ~ T ?{?;/‘5‘ 8 2 43¢ @é
‘ IR e, 12 17 I
\ 7 7 \ S S . 830 ob
STILE (LVL | DVt @ § o
CAP (PVC) v INTERIOR  qreei RemFoRCEMENT  LATCHSTIE(vi)  CAP(PVC) R 3 285 -
(1.6'X 0.135) el . & 355 a0
/ 1"\ HORIZONTAL CROSS SECTION S I y S 88
& L E
’V : § .‘ §
35.75" MAX. LT e
PANELWIDTH e
> FIBERGLASS R
| DOOR SKIN L e 9o
> <
\ co BE
= g e "
- b.o-toa " 40
TN D s |g 22
w -" I 'f' g %O
J 1/j . o
INTERIOR EXTERIOR 3] g ©
1/ 2 -
2 ol
ok R puian)
o ] TS
= R 3
; T L 8
3 FOAMCORE [l .- 5 S
=§ d \ a9 -4 ” 6;:)
< T '-“-.,'- S v
S X SURR 2 5
\ 4. ‘ < ‘4 ' S 2
.. ,.‘: ‘....1 E m
, SEE HARDWARE DAPURIE =
TABLE s g 5
: = 5
DOOR PANEL S
TRILENNIUM P
SERIES 3000 MULTIPOINT NS
I LOCKING SYSTEM / 2
BOTTOM RAIL | 1 -Ig
(COMP. e 175" oATE: 11,/09/16
DOOR PANEL SCAE:  N.T.S.
Plastpro pwe. B:  JK
Fiberglass (" 2"\ VERTICAL CROSS SECTION o LFS
DOOR SKIN: FIBERGLASS (0.075" MIN. THICKNESS) Endura Muttipoint fock (3pt.) N et
CORE MATERIAL: POLYURETHANE FOAM (1.9 PCF MIN.) —4662
SHEET _3 oF _6

ZAClients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-853 Plastpro FG Opaque (Trilennium)\C - Drawings\TX-4658.59.61.62.dwg

© z016 R.W. BUILDING CONSULTANTS ING.



Z\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-853 Plastpro FG Opaque (Trilennium©\C - Drawings\TX-4658.59.61.62.dwg

EXT. SHEATHING —\

1/4" MAX.

SHMSPACE ™~

DOOR PANEL \\

EXTERIOR

A\

0.15"
C'SINK
(TYP.)

ui

\‘ HEAD

ENDURA WEATHERSTRIP
(QEBD/PE 650)

INTERIOR

2X FRAMING
> (G>=0.42)

o / DRYWALL
“ L #10x 2.5 PFH
| WOOD SCREW

(~3"\ VERTICAL CROSS SECTION

W Outswing shown - inswing

also approved

174" MAX,

0.15"

2X FRAMING

SHIM SPACE e = CSINK
EXT. SHEATHING —/ (TYP.)

(G >=0.42) ‘\

#10 X 2.5' PFH WOOD SCREW
—

ENDURA WEATHERSTRIP

(QEBD 650}
EXTERIOR

/4

DRYWALL —/

#8 X 2.5" PFH WOOD SCREW
#8 X 3/4" PFH SMS

5

INTERIOR

#8 X 1" PFH SMS$
4" HINGE

/1" \ HORIZONTAL CROSS SECTION

w Inswing shown - Qutswing also approved

ENDURA WEATHERSTRIP

(QEBD/PE 650}

A\

A\

/

»
. .

$
nx
HMIDT

NDON F. SC

PPRYTERS

-’*,
s,
‘-.’7
»,
s,
-

veowy ey

.“ """1"62.{ 23

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

CORNER PADS (TYP.)

ULTIMATE TRILENNIUM ASTRAGAL

/ DOOR PANEL

#8 X 1"PFHWS

A\

l k#loxz—wz" FH WS

@ HORIZONTAL CROSS SECTION
4

Documents Prepared By:

P.0. Box 230 Valirico FL. 33595
813.659.8197

BUILDING CONSULTANTS, INC.

Phone No.:

Ry

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

ENDURA

PRODUCT:

PART OR ASSEMBLY:

HORIZONTAL & VERTICAL

CROSS SECTIONS

LFS
BY

REVISIONS

10/26/21|UPDATE TO 2018 IBC/IRC CODE

1

oaTE: 11,/09/1

o
<€
a
o
z
6

SCALE:

N.T.S.

DWG. BY:

JK

CHK. BY:

LFS

DRAWING NO.:
TX-4662

SHEET 4 oF 6

@ 2016 R.W. BUILDING CUONSULTANTS INC.



Z\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-853 Plastpro FG Opaque (Trilennium©\C - Drawings\TX-4658.59.61.62.dwg

A\ Y

INTERIOR

EXTERIOR
DOOR PANEL
L

ENDURA

DOOR SWEEP

/ (DBK-R)

\\

INTERIOR

DOOR PANEL

ENDURA \

DOOR SWEEP
(DBK-ZAC)

#10 X 2.5" PFH WOOD SCREW OR

174" X 2-3/4" DeWALT OR [TW CONCRETE SCREW
/"1 "\ VERTICAL CROSS SECTION

w Inswing Adjustable Threshold

4.56" -
1 INSWING ADJUSTABLE THRESHOLD

ZAIL4565

456"

6 INSWING ARTICULATING THRESHOLD
IACLA4565

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" DeWALT OR ITW CONCRETE SCREW

/ 2"\ VERTICAL CROSS SECTION

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" DeWALT OR ITW CONCRETE SCREW

7“3\ VERTICAL CROSS SECTION

#10 X 2.5" PFH WOOD SCREW OR
174" X 2-3/4" DeWALT OR ITW CONCRETE SCREW

7”4\ VERTICAL CROSS SECTION

&/

inswing Articulating Threshold

\5j Outswing Bump Threshold
w/ Pin Capture

\\5j Outswing Bump Threshold

P NES ) ]

g | \=lW 3 ]

v Y « ]
e s ] - 456" | 456" ! ! 4.56" !
2} INSWING ADJUSTABLE THRESHOLD 3"} INSWING ADJUSTABLE THRESHOLD @ INSWING ADJUSTABLE THRESHOLD 5 INSWING ADJUSTABLE THRESHOLD

ZAI4565FN ZAILAA4565 IAIAAA565FN ZAI4565RDS
MAX. DESIGN PRESSURE = +40 PSF

T

4.5¢" ] l«
INSWING ARTICULATING THRESHOLD

4.5¢" 4.56"

7 INSWING ARTICULATING THRESHOLD

IACA565FN

8 INSWING ARTICULATING THRESHOLD

10 INSWING ARTICULATING THRESHOLD

IACLAA4565 ZACA4565RDS

IACAA4565FN

MAX. DESIGN PRESSURE = 25 PSF

MAX. DESIGN PRESSURE = 25 PSF MAX. DESIGN PRESSURE = 35 PSF

l—- 1.49" =

ﬁ;ﬁ*@%

4.56"

1 OUTSWING THRESHOLD

ZOBL4565

* 4 =N
N D N D i
3 , N
i 1 |
! 4.,56" | I 4.56" I 1— 454" l
12 OQUTSWING THRESHOLD 13 QUTSWING THRESHOLD 14 QUTSWING THRESHOLD
ZOB4565FN ZOB4565RDS FOB4566

Y b "
EXTERIOR SO N
HERST / DOOR PANEL St 2 il Nfge o, £
WEATHERSTRIP FR-IEE N = © L
Ly INTERIOR EXTERIOR ST ixt NI B -
(QEBD/PE 650) B 2w SR Tlow dnw B
ENDURA i} 2 Ny ioiS Slue 275 &
WEATHERSTRIp,  INTERIOR EXTERIORE} tu iy Sy g 28 7
(QEBD/PE 650) G | 1BYT 8 % 8a 2
Qe 21 3 38 @
AN RS i Z b 2
Ay SRT ¢
DOOR AN R
PANEL HE
o
3 66 2
BoE g
m

Documents Prepared By

CERTIFICATE OF REGISTRATION # F—11852

v
b-d
o
e
O
Lt
7
<
[ 5]
3 . N
o > S
prd 12}
i = ©
22
g S
£ o E
S S| &
=
Q =
el |E
o [+ N
D=
Lim
Ly
Q
S
S
<)
@
S |»
@ 2
O
o »
5| 2
N §|
e
I
a
Q.
35
~
>\
Sl=
<
S0
—lo
Z
patE: 11/09/16
scalE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4662

SHEET 5 OF 6

@ 2016 R.W. BUILDING DONSULTANTS INC.



Z\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-853 Plastpro FG Opaque (Trilennium)\C - Drawings\TX-4658.59.61.62.dwg

[ ———

s @ 2X FRAMING (BY OTHERS) &R
Q6% JE s B
X " E% o
508 \ 7 & : io o8 &
© o (TYP) I* g ’1 (TYp) Astragal Strike Plate 2 N Ty oY
'} ] !‘“ {TYP.) ‘ @ Head Jamb g % gg % =5 g::
] SEE HINGE — 2, B Z22@ 66
| | I I (4 > dg@ bE
e DETAIL T - | — 325 fig
I8 ! = [ed = Z2gb 5b
3 #10X 2.5"PFH DETAIL 1 o ‘\\ a O xo
B WOOD SCREW ©g c 3 28% s,
@ {TYP. @ HEAD = ] g 2 .o
AND JAMBS) #10X 2.5" PFH WS g 388 ggg
= T ] - o
% DETAIL 1 : D
s g { oLl LS
N i §
[a]
= . - —& N [ #8X2-1/2'PFH WS
3 4
] - L3
5 SEE HINGE o [le
3 DETAIL 2 #8X 1" PFH Wséi, 1o #8x3/4'PFH WS =
T X 4 HINGE = 2
- 1 v 1
\ e @ <
| k
il W
/ DETAIL 2 OR 3 “ HINGE DETAIL 1 2 2
A *® N e
sl g ‘N
.- pro— — 0. 0.
% #8 X 2-1/2" PFH WS
e 0>
4" (TYP) #10 X 2.5" PFH WOOD SCREW o | —|@
4'(TYP.) . 1/4" X 2-3/4' DeWALT OR \ o Lilo~ L
HINGE JAMB 4 (TYP) TW CONCRETE SCREW #8X 1" PFH wsé:' 0l IS #8 X 3/4' PFH Ws S
[&]
(TYP @ SILL) " 4" X 4" HINGE o
FLOOR SUBSTRATE MATERIAL (TYP.) FRAME A&’fHOR'NG R\ &
CONCRETE (MIN. 3000 PSI) 3 lo
WOOD (G >=0.42 » , =l 6
( ) * NOTE: These additional anchors are required for D.P. > 40 PSF. HINGE DETAIL 2 ] I 7
& Q.
o
b
CONCRETE ANCHOR NOTES: 3/16" X 2-3/4" TW CONCRETE SCREW S
1. Concre{e anchor Ioccﬁoqs_af the corners may be adjusted to maintain the min. OR ASTRAGAL PIN CAPTURE S
edge distance to mortar joints. o #8 X 3" PFH WOOD SCREW COMPONENT (UNDER CAP) ~
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted fo o L
maintain the min. edge distance to mortar joints, additional concrete anchors ASTRAGAL STRIKE 1/2" DIA. HOLE (IN CAP] g =<
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. PLATE @ SILL \ g 2
3. Concrete anchor table: Wl - %
ANCHOR JANCHOR | MIN. | MIN. CLEARANCE | MIN. CLEARANCE = °©_ 7 9 B~ o 11/08/16
B o B e . ANCHOR F— - JK
nw - | 3/1¢" 1-3/4" 1-1/2 " CHK' BY: LFS
TAPCON® | 1/8" 1.3/4" 3 1/2'DIA.HOLE peray 2 DETAIL 2 DETAIL 3 DRAWIG W0
DeWALT ,, ) ; . Oufswing Inswing Inswing 4
uLtRACONE| 1/ 1-3/ 1 4 TX—4662

sHEeT 6 oF 6

@ 2016 R.W. BUILDING QONSULTANTS INC.



